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Note: - Section B is cowpulsory. Allewpt any THREE (3) questions fram Section € but question o9 iz compulsory. S &/ Z‘,_ ,.2_?

SECTION-B ;1
2. Write short answers to any SiX parts. (8x2=12) e A L i 2
4 0] " 4 0] 7
LKA 'JB then find AB. AT A = _iB= | ] A 4
2 9 J 2 -7 8!
il, Findthevalue ofxand ¥ if x +iy—1=4-3 s =3 S s i e i
iil.  inthe form of a+7b, simplify it (7+ 2;'}[? 45 7+ 20(—2—40) ZFeFiatib
v, Calculate. fog,3xlog,¥ log3xlog, 8  _ZF v
v. Iflog?=03010then find the value of log32 et adliog32 ix log2=030100 v
vi, Rationalize the denominator. - 7.2 ﬁ._. I 1T
~ \*2) \fs Va7
& R e "
vil, Evaluate:«-‘-—-—i‘lan,y--l.z= Y x= y==l =) SR T
Xz xz
vili. Factorite: x° + 144 48 2 Mxr 48 =87 i
X Factorize; 1 = 64" ) -6 2y
3. Write short answers to any SIX parts. (6x2=12) _g}j;,u.r HLlange 3 3
) I .2 il 1 o I b 1 :
i.  Find square root by factorization, — x* - — x4 - 37 — R = — - — P8 A GE 2k
! J 6" 127" 3 160 127 35" Heb Ol 3
. =3 x=-2 %
i, Solvethe equation. .3—£—% =i --~---—=—l-¢-."-vd:w H
2 2 3 2
lii. Solvethe inequality, — %x+5£l - %x+5 Ll e s i
iv. Drawthe graphof y 3 pdolbiH Vabls v
V. Find thevalue of m and c of the given equation by expressinglt &5 2 o v mal L At ymmx el aie (o
in the form of y=ar-+o: dx-y+6=0 F o y+6_0
vi.  Find the distance belween twa points: A(3,—S) , B(4,2) Al3,-5)  B(4.2) 2o il ¥ i
vii.  Find the mid-point between two points: A(4,2) , B(—6,-4) A(4.2), B( 6, 4) ztede Lkl i
viii, Whatismeantby §.44=84.4? Yo o e i P i
ix. Define paraelogram. oy At
4. Write short answers to any SIX parts. (6x2=12) E e L=l a4
I- U1} is right bisectar of the line segment AB in the given -;w?d;ffﬁﬁﬁa.;fﬁfﬁv
diagram, Ifm AB = 6 e¢m, then find the value af m AT, N T i o TR e
IR —‘?-L'(J"’:—E\fmmﬁrmi
n
li.  Verify that 3cm, 4em, 5cm are the sides of a triangle. UFA I L et Som, dem, Fom S 2R el i
iil. Define congruent trisngles. Al S i
X %
Iv.  Find the value of x in the given diagram. il AP W
V. Verify that the triangle having the gving measures of +4.&,.r.;’ap,frc.gn.hsé{;..;,Igr"d'f,.u.‘n.f Lalatae v
sides is right angded trianglo. a=16cm, b=30cm, o =34cm
a=t6om, b=30cm, c=34cm
vi. Findthe area of a square whase length of ane side is 8cm. e BemdUISt LG SN, i
vil.  Define altitude or height of a triangle, BN R (L
vill.  Define point of concurrency. Sl Es
. Construct a AABC inwhich. LT LAABC  ix
mBC=4,2cm, mCA=3.5em, m/C=75 mBC=4.2cm, mCA=3 Som, mLO=75
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Attampt any THREE questions. Each question carries EIGHT marks (4+4). But question No.9 is compulsory.

Solve by erammer's rule. _égrﬁ_,,{jdjg‘{___,;_." (a).5
—Ax+3y=8 Ay +1p=8
2y - p=—] 2x- v=-1
 latgy) (253 lei6)" (25
Simplity. f(_‘."__' il (GIO" <) £ @)
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Use fog table to find the value of: i-{—);;l—{—l-'-" - 'v T Wea -é-’-y-"-‘--“‘j'-l"-'fﬂ (a).6
60.8 608
f»?’.w’d xp iz Iy ey 2e=400yT 4y + 20 =04 A ()
If 5+ p? 428 =64 and vy + yz + ax = 40, then find the value of x )=z
Factorize by factor thearem, »' —x* —22x +40) ot - 20x+40 ,éd_}f; g = (a7
42257 — 120 - 2480 < 162" E P B a0
Use division method to find the square reot of 4+ 25" - 12x - 245 +16x"
; ; 1 I TR O T
Solve the ineguality. 4~ x2<7+ 7« 4 adigs il d (a).8
Conslruct a triangle ABC and draw its angle bisectors if ,U‘i:i'{..p-'{..f.u:_' h e LAARC  (b)

mADB =d2cm, mBC=06cm. mCA=5.2¢m

Prave that any point on the right bisector of aline
segment Is equidistant from its end paints.

mAR=42em, mBC = e, mCA =52em
(B] bl gy )ch I AT f.._lé_.—ﬁu’rrﬁ.{l _’1,}""’9:.:;.1‘ 8
Lyt i ey L
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Prove that parallelograms on the same base and
between the same paralle! lines {ot of the same
altitude) are equal in area.
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